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307 212+01 A 610,000 700,000 A90,000
& 366,000
Al 244,000
01 22 & 3=l 610,000 700,000 A90,000
28Xt ol=Hl XA 610,000
& 366,000
Al 244,000
20l EFALS 4,500 6,500 A2,000
201 B2 AY| 4,500 6,500 A2,000
01 At 2elt] 2,500 4,500 A2,000
20l AL 2,500
02 2324l 2,000 2,000 0
O MLAIS 2,000
S|HAEEA el=d| K& 665,676 365,834 29,842
J| 332,838
= 66,568
Al 266,270
308 AHXIHMSOI & 665,676 365,834 299,842
| 332,838
= 66,568
Al 266,270
13 SI |2 SHICHEH B A E L EFALH] 665,676 365,834 299,842
O3|HEEA 2l=zHl K& 665,676
| 332,838
T 66,568
Al 266,270
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SH: AYEE
B mHGIS AVTA JIBPE
Rl ZoHe! BRI (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KA SATHE K2 A 81,146 104,790 N23,644
= 40,573
== 8,115
Al 32,458
101 e124d| 81,146 104,790 N23,644
= 40,573
=S 8,115
Al 32,458
04 JIZtN2Z2 XS 2 81,146 104,790 N23,644
OXSAt2I S E XA 81,146
= 40,573
= 8,115
Al 32,458
HY2IIH(ALSA ) 647,575 655,300 NT,725
= 105,693
Il 192,473
= 59,633
Al 280,776
F2gH(HsT W) 596,332 603,206 6,874
[ 105,693
Il 192,473
== 59,633
Al 238,533
AL SAAG 2 (ALY S§eltl) 282,546 281,320 1,226
Jl 141,273
= 28,255
Al 113,018
101 21A4H| 266,130 256,000 10,130
Il 133,065
= 26,613
Al 106,452
03 SRH(RINAHA) 222+ 144,000 192,000 48,000
OXNGAI SSAHLS AL 144,000
) 72,000
= 14,400
Al 57,600
MU IIRINZZE2NSES 122,130 64,000 58,130
OXNGAI SSAHLS AL 122,130
) 61,065
= 12,213
Al 48,852
04 HSRESS 16,416 25,320 A\8,904
Jl 8,208




=M AUB
A HZYRAZH(AZSI L)
Sel: QIEHH|(AZST) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,642
Al 6,566
04 R (RIHA)22N BEESRES S 16,416 25,320 A\8,904
OXSAt SSAHLS A 16,416
Jl 8,208
< 1,642
Al 6,566
=otzel XIXHA X2 24| 32,400 32,100 300
Jl 16,200
== 3,240
Al 12,960
101 e124d| 32,400 32,100 300
Jl 16,200
=S 3,240
Al 12,960
04 JIZtN2Z2XNS 2+ 32,400 32,100 300
O=2tt2el XAl X 32,400
Jl 16,200
= 3,240
Al 12,960
SHXZAMHIAANY Q24| 70,000 78,400 8,400
Jl 35,000
= 7,000
Al 28,000
101 @12A4H| 62,000 67,400 Ab5,400
Jl 31,000
= 6,200
Al 24,800
03 SRH(RINHA) 222+ 62,000 67,400 A5,400
O=SHANAAMHIA A 62,000
) 31,000
< 6,200
Al 24,800
M HA=RE=SS 8,000 11,000 /3,000
Il 4,000
== 800
Al 3,200
4 R (RIHA)22N BEERES S 8,000 11,000 /3,000
OsSHAAMYIAAA 8,000
Jl 4,000
== 800
Al 3,200
AL 2CIAMY 1A 211,386 211,386 0
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